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AXOoZ 37|2 Balst=
|nt[] intGroup = new |nt[3]

(new: £AH7tE MZ PHECH= 2|0))
- g2l Q=2 37|18 Hlol= ¥
int[] intGroup ={1, 2, 3}

AtE0ot= W

- ol 2ts 2= UH
intGroup[H ] = 2t

ex. intGroup[2] =

-HIEO U= €= '?;!E

ex. int third = intGroup[1];
->int third =2

2| AE (List) - B S0} FALSHX| 2 HE| et

CBJAEQ T7|= SN (DHE 77 WL S AL, 0Fd FS YAES A

ArrayList

e dhE

- import java.util ArrayList; (Z| & ol 12

- ArrayListOfl SE0{Z XAt2dS BAXLE ¥

ex. ArrayList<Xt2 3> HaH = new ArrayList<XI23>();

*<> OtO| X2 &L Primitive X}2&0| O}-! Reference At1=280t 22 4 Q)
- ArrayListOll S0{Z XMH=dS M (MELGE XANZHE S0{Z = UF EHE2
ex. ArrayList $=~% = new ArrayList();

olo

ArE5th= U

- ArrayList0il 2t2 F7t5t= 2
ArrayList testList = new ArrayList();
testList.add(%);

*(HET|S) - HRTH XA U 7
- ArrayListOl M 2t H|AH5H= LH
testList.remove(index);

- ArrayListOllM 2SS 7t = W
testList.get(index);
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int (Primitive Et! Xt=2&) vs. Integer (Reference Et A2 H)

Integerlil= intE A2 M HR% 7|S0| F7HE[0 U=

boolean vs. Boolean

long vs. Long

*Primitive EFI0ll= NullO] S0{Z &= g1 X|Tt, Reference EF 0= Nullo] S0{Z = /U

Null: ZXH5HX| Z&5 2|0 (ex. H= = Null; -> O|F0l| SiE Hay= EMSHX| 43)

Primitive (ZAl) Type

- number, boolean, null, undefined, string, 57tX|7} ZXH
-Ha0 2E E I HEE] Mol 1™E FV|2 HEEH, S Hast HI0[E L s NE
- o] M, =715 & Al U0 MEE HE2 Yo HFYHe = HI

- 0l A 240| 2EE 42 B0 2YE HEE S0 M E U4S =2 HE

oot

Reference (&ZX) Type
- object, array, function
- 377 Mol UX| S
- 0 2ZE O 20| &Y HE Ha0l MEE = g, H0ll= O|O|E{of CHgt F=Tt
- X B2 Hao U0l M E HE2 SO =4

- Xep A0 HaTt 7HE M 22| S22 FAE 0|2010] H



